
INSTALATION GUIDE TRWS_10 & TRWS_30

Follow these step-by-step instrucƟons to assemble the TRWS for your precipitaƟon measurement system.

Main Parts:

Dimmnsions:

InstallaƟon:

Choose an open area for the rain gauge, avoiding overly windy locaƟons. Ensure the distance from
the gauge to any obstrucƟon is at least twice the height of the obstrucƟon above the rain gauge's
orifice. The height of the orifice from the surrounding terrain should comply with local regulaƟons,
typically between 0.5 and 2 meters.

Remove the cover from the rain gauge base plate by loosening the three screws at the boƩom
edge. Remove the bucket from the base plate before proceeding with the mounƟng.

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

Bucket

Cover

Support triangle
Base

MounƟng adapter
(opƟonal)

Stand 1/1.5/2m
(opƟonal)

TRwS_30_314
2Orifice area: 314cm

Range: 955mm

TRwS_10_200
2Orifice area: 200cm

Range: 500mm

TRwS_30_200
2Oriface area: 200cm

Range: 1500mm

TRwS_30_400
2Orifice area: 400cm

Range: 750mm

53
5

63
5

63
5

Ø355
 

Ø385  Ø385  Ø385  

63
5



1. MounƟng on a Stand:

• Prepare a stable concrete base and aƩach three M8 bolts to it (e.g., using wall plugs and
hanger bolts).

• Screw three M8 nuts onto the bolts and place the lower flange of the stand on them. Note
that the lower flange is round, while the upper one is hexagonal.

• Use a spirit  level to ensure the upper (instrument)  flange of  the stand is  level  in  two
perpendicular  direcƟons. Once  level,  secure  the  stand with  three  addiƟonal  nuts  and
washers. Do not Ɵghten them fully at this stage.

• AƩach the base to the stand using three M8 screws. Check the horizontal posiƟon of the
support triangle with the spirit level and adjust using the lower flange nuts if necessary.

• Tighten all the nuts securely.

2. MounƟng on a MounƟng Adapter:

• Prepare a verƟcal pole with a diameter of 50-60 mm, securely fixed to a stable base.
• Place the mounƟng adapter onto the pole. Do not Ɵghten the fixing screws yet.
• AƩach the base to the adapter using three M8 screws. Level the base using a spirit level,

adjusƟng the fixing screws of the adapter. Ensure the support triangle is level by placing the
spirit level on both ends.

• Once the base plate is level, Ɵghten the mounƟng adapter's fixing screws securely.

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

>2xH

H

1/
1.

5/
2m



3. Removing Transport Screws and Bracket:

The rain gauge is fiƩed with two transport screws and a transport bracket to protect the load cell
during transport.

• Loosen both screws to create a gap of at least 1 millimeter between the screw Ɵp and the
gauge body.

• emove the transport bracket.

4. Final Assembly:

• ReaƩach the bucket and the enclosure.
• Ensure the enclosure is correctly posiƟoned: the male part of the heaƟng connector must

be plugged into the female connector located at the base plate of the rain gauge.
• Secure the enclosure by Ɵghtening the three screws around the lower edge.
• Use your finger to check the assembly: the bucket should not touch the enclosure.

5. Cable connecƟon:

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

>1mm

TRWS_10

TRANSPORT

BRACKET
TRANSPORT

SCREWS

PULL OUT

LOOSEN

>1mm

TRANSPORT

BRACKETTRANSPORT

SCREWS

PULL OUT

LOOSEN

TRWS_30

C
O

N
T-

B

C
O

N
T-

A

S
D

I-
12

G
N

D

R
S

4
8

5 
B

R
S

4
8

5 
A

P
W

R
 +

1
2

V

G
N

D

S
H

IE
L

D

HT-IN

HT-IN

HT-OUT

HT-OUT

M
P

S
11

-T
R

W
S

8 wire cable connecƟon M12 8-pin & 4-pin connectors

C
O

N
T-

B

C
O

N
T-

A

S
D

I-
12

G
N

D

R
S

4
8

5 
B

R
S

4
8

5 
A

P
W

R
 +

1
2

V

G
N

D

S
H

IE
L

D

HT-IN

HT-IN

HT-OUT

HT-OUT

M
P

S
11

-T
R

W
S

C
O

N
T

-B

C
O

N
T

-A

S
D

I-
1

2

G
N

D

R
S

4
8

5 
B

R
S

4
8

5 
A

P
W

R
 +

1
2V

G
N

D

S
H

IE
L

D

HT-IN

HT-IN

HT-OUT

HT-OUT

M
P

S
11

-T
R

W
S

PIN 1 6 4 3 2 5 8 7

PIN
2+3

PIN
1+4



INSTALATION GUIDE TRWS_E

Follow these step-by-step instrucƟons to assemble the TRWS for your precipitaƟon measurement system.

Main Parts:

Dimmnsions:

InstallaƟon:

Choose an open area for the rain gauge, avoiding overly windy locaƟons. Ensure the distance from
the gauge to any obstrucƟon is at least twice the height of the obstrucƟon above the rain gauge's
orifice. The height of the orifice from the surrounding terrain should comply with local regulaƟons,
typically between 0.5 and 2 meters.

Remove the cover from the rain gauge base plate by loosening the two screws at the boƩom edge.

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

TRWS_E.200
2Orifice area: 200 cm

TRWS_E.314
2Orifice area: 314 cm

TRWS_E.400
2Orifice area: 400 cm

35
0 39
0

Ø255

41
0

Ø255 Ø255

Enclosure

Funnel

Bucket

HeaƟng (opƟonal)
Base

Spirit level
Electronic unit housinng

MounƟng adapter (opƟonal)



1. MounƟng on a MounƟng Adapter:

• Prepare a verƟcal pole with a diameter of 50-60 mm, securely fixed to a stable base.
• Place the mounƟng adapter onto the pole. Do not Ɵghten the fixing screws yet.
• AƩach the base to the adapter using three M8 screws. Level the base using a spirit level,

adjusƟng the fixing screws of the adapter. Ensure the support triangle is level by placing the
spirit level on both ends.

• Once the base plate is level, Ɵghten the mounƟng adapter's fixing screws securely.

2. Final Assembly:

• ReaƩach the bucket and the enclosure.
• Ensure the enclosure is correctly posiƟoned: the male part of the heaƟng connector must

be plugged into the female connector located at the base plate of the rain gauge.
• Secure the enclosure by Ɵghtening the three screws around the lower edge.
• Use your finger to check the assembly: the bucket should not touch the enclosure.

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

>2xH

H

1/
1.

5/
2m



3. Cable connecƟon:

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

M12 8-pin & 4-pin connectors

C
O

N
T

-B

C
O

N
T

-A
S

D
I-

1
2

G
N

D

R
S

48
5

 B

R
S

4
8

5 
A

P
W

R
 +

1
2

V
G

N
D

S
H

IE
L

D

HT-IN
HT-IN

HT-OUT

HT-OUT

M
P

S
11

-T
R

W
S

PIN 1 6 4 3 2 5 8 7

PIN
2+3

PIN
1+4



Data protocols & ApplicaƟons

MPS - System spol. s.r.o., Pri vinohradoch 326, 831 06, BraƟslava, Slovakia, www.mps-system.sk

SDI-12 protocol
Start basic measurement:   0M!

     sensor address (default address is '0')
<CR><LFResponse: 00003 >

     3 measurements available immediately

Send data:  0D0!

Response:

0+0.134+7995.146+21.246<CR><LF>                                   
     total amount of precipitation (21.246mm)
     total weight (7795.146g)
     amount of precipitation since previous reading (0.134mm)
     sensor address (default '0')

ModBus RTU/ASCII (RS-485)

Factory-set communication parameters: 9600,8,E,1

Factory-set device address: 1

Function code: 04 (read input registers)

Some important register addresses:  388 = amount of precipitation [mm]

                                                           386 = weight of the bucket content [g]

                                                           400 = temperature  [°C]

All registers are of type float, read two consecutive registers to get a value.

AiO ApplicaƟon for Windows

Web applicalion link for Windows:
https://app.mps-system.sk/main

Note: The online web tool is compatible
only with Microsoft Edge and Chrome
browsers. 

TRWS Accuracy test
Link to access the online web-based testing tool for TRWS rain gauges, allowing you to verify and 
ensure precise measurement accuracy:  

https://accuracy-test-trws.mps-system.sk/

Note: The online web tool is compatible only with Microsoft Edge and Chrome browsers.


